

Suma y resta de fracciones heterogéneas

$$\frac{4}{3} + \frac{2}{7} = \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$\frac{4}{5} - \frac{5}{8} = \underline{\quad} - \underline{\quad} = \underline{\quad}$$

$$\frac{3}{4} + \frac{5}{9} = \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$\frac{7}{8} - \frac{2}{3} = \underline{\quad} - \underline{\quad} = \underline{\quad}$$

$$\frac{2}{9} + \frac{2}{6} = \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$\frac{4}{5} - \frac{4}{7} = \underline{\quad} - \underline{\quad} = \underline{\quad}$$

$$\frac{6}{7} + \frac{3}{4} = \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$\frac{2}{3} - \frac{6}{9} = \underline{\quad} - \underline{\quad} = \underline{\quad}$$

$$\frac{8}{9} + \frac{4}{4} = \underline{\quad} + \underline{\quad} = \underline{\quad}$$

$$\frac{6}{7} - \frac{4}{5} = \underline{\quad} - \underline{\quad} = \underline{\quad}$$